THeFEXFRAFPHBRER

SH6E4R1HRE

. = SAEA SEA SEA SAEA

% 2 FHTOYT 5L BEAS EEEEM mEE  BEREN mzr  amEs | 5T gws Azl | BT ges
(7784535L) g s (oF Qs ok Qg

—B#l Ea—~onA400— 8 4 1 4 1 1 4 1 1 0 4 1 1
D it 8 4 {0} 1 4 1 1 4 1 1 0 [o] 4 [0} 1 1

A TATERZE 50 79 19| 77 5 18| 64 39) 13 10 54 32 13

5+ HE ABRER 5 0 5 2 0 5 2 0 0 5 2 0

z DREES 10 18 7 17 9 7 10 7 3 4 6 4 3
e ABRIER 1 1 1 1 1 1 1 1 0 1 1 1

I B 60 103 {0} 27 100 26 80 49 17 14 66 {0} 39 17

HEZ (EEHE) 21 19 21 19 10 8 8 0 10 8 8

HE ABRER 3 0 3 0 3 3 0 0 3 3 0

BEZE (R ERBEEIRK) 102 61 7 54 5 44 21 1 1 43 20 1
HEABRER 13 0 12 0 12 1 0 1 11 1 0

BEF (BEERMZ) 18 6 17 6 13 8 3 1 12 7 2

[IE=R 16 59 4 54 2 19 14 0 0 19 14 0
EERE 38 44 7 42 7 33 21 4 2 31 20 2
HEABRER 6 1 5 1 5 3 1 0 5 3 1

XAV y 23 92 0| 87 0| 24 15| 0 0 24 15 0
XUNEYT—av gl 23 38 0 38 0 23 12 0 1 22 12 0
Za—0OY4A4IVRA 10 24 {4} 5 24 5 11 4 2 1 10 {0} 3 2
FHEHE 15 16 1 15 1 11 9 1 0 11 9 1
BEaTH | s AEER 2 0 2 0] 1 1] 0 0 1 1 0
rEZ 120 206 18 201 17 116 39 10 6 110 37 9

HE ABRER 16 3 16 3 13 3 0 0 13 3 0
AR—Y-F Y EYIZ(10AAE) 8 0 0 0 0 0 0 0 0 0 0 0
KAR—YIIT)LRRE 24 41 36 25 10/ 0 1 24 9 0

=iz 45 80 75 48 35 8 3 45 32 5

s O] i HE ABRER 23 19 8 4 4 2 6 4 2
ABEERE THAUE 18 45 42 24 16 5 1 23 15 4
HFIEES 15 32 31 16 13 8 1 15 12 8

GEita 75 141 132 79 26| 23 9 70 22| 20

HE ABRER 1 1 1 0 0 0 1 0 0
FA74/X—=23 (JREEHERE) 4 0 0 0 0 0 0 0 0 0

SATA4 /3= a (BIZERF) 1 1 1 1 1 0 1 1 1

I =t 536 983 [4] 928 540 267 79 0 510 {0} | 251 66

HEZE 20 13 13 12 6 4 2 10 5 3

HE ABRER 5 0 5 0 5 1 0 0 5 1 0

IS 6 10 3 1 10 3 1 10 3 1 0 10 3 1
EERE 10 18 10 4 18 10 4 13 8 3 0 13 8 3

KA TR 4 12 9 0 12 9 0 7 6 0 0 7 6 0
XUNEYT—a gl 4 11 6 0 11 6 0 4 3 0 0 4 3 0
Za—0OYA4IVRA 5 6 {1} 5 3 6 5 3 5 5 3 0 5 {0} 5 3
EFHEHE 8 3 3 1 3 3 1 3 3 1 0 3 3 1

18+ 1 17&’.%%3# 15 14 7 4 14 7 4 14 7 4 0 14 7 4
TN RAR—YD IR RS 3 3 2 0 3 2 0 2 2 0 0 2 2 0
=i 7 8 3 4 8 3 4 6 2 3 0 6 2 3
HEARRER 3 3 0 3 3 0 3 3 0 0 3 3 0
THAUE 5 11 5 5 11 5 5 5 2 1 0 5 2 1
HRIEES 5 8 4 4 8 4 4 7 3 4 0 7 3 4

&R 12 16 1 10 16 1 10 14 1 9 1 13 1 8
HEABRER 2 1 0 2 1 0 2 1 0 0 2 1 0
FAT74/X—=2a (REEHEE) 3 4 3 3 4 3 3 4 3 3 1 3 2 3
SA74/3—=30 (BIER) 2 1 0 2 1 0 2 1 0 1 1 1 0

D B 107 149 {1} 73 43 149 73 43 118 60 36 5 113 {0} 58 34




SHEEXFRAZRRER SH6EAR1ARE

g I BETOTS L - w | KT | RN g | KT | 2N w | KT | RN sy | KT |SEA
=2 B oEOEE 7R (HIFOT L) BEAB EREE A %—?—% ZEREH % ﬁ%g BEREH A ﬁ%g HREH AFEH A %a&%
Ea—< -4 T7RE 9 8 4 1 7 3 1 6 2 1 0 6 2 1
INTYIANILR 9 10 {2} 5 1 9 (2} 5 1 8 (2} 4 1 1 {0} 7 (2] 3 1
SEMIIBL AR—VEZ 10 13 3 5 13 3 5 10 3 4 2 8 2 3
1 A Fo] i 15 ] dI—F 9% 6 10 2 0 9 2 0 6 2 0 0 6 2 0
AR ERE ABEEHF R B 34 a2 47 38 2] 13 7 30 2] 11 6 3 [0 27 2] s 5
o zmzn | B 56 23 16 56 23 16 56 23 16 1 55 22 16
BEFORE He AERIEIR 80 37 (1 13 0 36 (1 13 0 36 (1 13 0 0 {0 36 {1 13 0
N it 80 93 {1 36 16 92 {1 36 16 92 {1 36 16 1 {0 91 (1 35 16
it 825 1373 {8 687 326 1311 {8 653 303 864 |3 424] 155 53 {0 811 {3 393 139
)1 N, BEAERARENB TR 46, DEZZMTOS 5L BT %8) . Ca—OY(TURRETOY S L LR %E) | T/ FZATOT 5L LRI - %D . /SOVvINLRZMTOT 5L (3FFIEL)
AR—YEZZMTOT 5L SERIFL)  ERFMTOVSL(EZORE) ISOVTE, BEABICABZHERLTOENA, BEXRZRAXOEEHY,
2. FEFRUITOTSLRBRERAFRR Y T IOV S L BERERMTOTSLOREARICT. REBERB1FHTOISLEET,
3. X[F, ESRMICBLTHEEITIRE, ) i i i )
4. JOVTATERZR2ETOTSAEL), ARFERZMTOTSLUEL) . HERR2MTOYSLHELHH) . ERR2MTOSSL(ELOERE) CE. BN TOSSLDOERE . FEREH. ABRER. AZRERER
SEA SEA SEA SEA
i =80 22 HEAE BEEY | XTI mmr smaEy | XF mzx awsgn | 2T mzr mBEg 0 AREg | 5 e
M3k % R ; R ; Rk %
N3 N3 N3 N #
EEEREREREZOAAS) EES 9 0 0 0 0 0 0] 0 0 0 0 0 0 0
AR—YEEREF LR Bt 5 6 3 2 6 3 2 6 3 2 0 6 3 2
AR | I it 14 | 6 3 2| 6 3 2| 6 3 2 0 6 3 2
AERBERAR—YEEILLR \ SEFIIEL 3 4 2 1 4 2 1 4 2 1 0 4 2 1
[ I it 3 4 2 1 4 2 1 4 2 1 0 4 2 1
&t 17 | 10 5 3] 10 5 3] 10 5] 3 0 10 5 3

). EREERRERAEER (L) ICE, BiaERPE. RILF—KEEFLLTEETHEEZST,
2. ZR—YERRAEZARER(BL) RUKRERBAR—YEELLARERSEFIEL) ICE. EEABREEXELTEETHEERS



	人間

